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October 31, 2002

S. Lang


Assignment #7 (Presentations 32, 35, 37 – 39)


1. (Cryptography and security, 2 pts.) Two main components of a cryptosystem are key and cipher (algorithm).  What are the two main reasons of having a key in addition to a cipher?  Conceptually, why is it OK to disclose the cipher to anyone (both good and bad guys)?

2. (Cryptography and security, 2 pts.) What is the problem with implementing the symmetric cryptosystem?  Why is the asymmetric cryptosystem better in this aspect?

3. (Internet security and web privacy, 2 pts.) What is a firewall?  List 4 different types of things a firewall can control access over.
4. (Voice recognition, 2 pts.) What are the advantages of using grammars in the speech recognition process?

5. (Relational databases, 2 pts.) Given the following schemas and relations: 
Schemas:

  

SUPPLIERS(supplier-id, name, city, yearly-sales)



PARTS(part-id, name, color, weight, cost)



JOBS(job-id, name, #-of-workers, completion-date)



SHIPMENTS(supplier-id, part-id, job-id, qty, date-ordered, date-delivered)

Relations:



S(SUPPLIERS), P(PARTS), J(JOBS), SPJ(SHIPMENTS)

Produce a SQL expression to solve the query listed below:

For every supplier who delivered a part on August 2nd, list the supplier name and city as well as the part id number.














































